i #Hl wi

HIA D FRik

/14

B XOEZ LRI,

@ 30a’b*+5b* —20a’b*c +4b?
2 —49x2+(—T7x) © 7ab+(—17b)

@ 56x° +8x? —36ab’c+ (—3b?)
@ —8a®+ (2a)? @ —6abc+(—b)

(® 272°+(3z2)? 12 8a’b*-~ 8ab?

© 24y°*+(2y)? B —12x*yz>+4y

@ 100y*+ (—10y) —28b* = (—7h?)




HIA D FRik

LA

B XOEZ LRI,

@ 30a’b*+5b*

6a’
2 —49x*+~(—Tx)
Tx
(3 56x°+ 8x>
7x°
@ —8a®+ (2a)?
—2a
(5 27z°+ (32)?
3z
® 24y° = (2y)?
oy

@ 100y?+ (—10y)

— 10y

—20a’b*c +4b?

/14

—5a’c

© 7ab~(—7b)

—-a

—36ab*c+ (—3b?)

12ac
) —6abc=(—b)

6ac
12 8a’b®-+8ab?

ab
@ —12x*yz*+4y
—3x?7°

—28b*+ (—17b%)

4p*




